

Rules for integrands of the form $(a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x])$

1: $\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx$ when $b c + a d = 0 \wedge a^2 + b^2 = 0$

Derivation: Integration by substitution

Basis: If $b c + a d = 0 \wedge a^2 + b^2 = 0$, then $(a + b \tan[e + f x])^m (c + d \tan[e + f x])^n =$

$$\frac{a c}{f} \text{Subst} \left[(a + b x)^{m-1} (c + d x)^{n-1}, x, \tan[e + f x] \right] \partial_x \tan[e + f x]$$

Rule: If $b c + a d = 0 \wedge a^2 + b^2 = 0$, then

$$\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx \rightarrow \frac{a c}{f} \text{Subst} \left[\int (a + b x)^{m-1} (c + d x)^{n-1} (A + B x) dx, x, \tan[e + f x] \right]$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_.*(c_+d_.*tan[e_+f_.*x_])^n_.*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
  a*c/f*Subst[Int[(a+b*x)^(m-1)*(c+d*x)^(n-1)*(A+B*x),x],x,Tan[e+f*x]] /;
FreeQ[{a,b,c,d,e,f,A,B,m,n},x] && EqQ[b*c+a*d,0] && EqQ[a^2+b^2,0]
```

$$2. \int (a + b \tan[ex + f])^m (c + d \tan[ex + f]) (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0$$

$$1. \int (a + b \tan[ex + f])^m (c + d \tan[ex + f]) (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0 \wedge m \leq -1$$

$$1: \int \frac{(c + d \tan[ex + f]) (A + B \tan[ex + f])}{a + b \tan[ex + f]} dx \text{ when } bc - ad \neq 0$$

Derivation: Algebraic expansion

$$\text{Basis: } \frac{(c+dz)(A+Bz)}{a+bz} = \frac{Bdz}{b} + \frac{Abc + (Abd + B(bc-ad))z}{b(a+bz)}$$

Rule: If $bc - ad \neq 0$, then

$$\int \frac{(c + d \tan[ex + f]) (A + B \tan[ex + f])}{a + b \tan[ex + f]} dx \rightarrow \frac{Bd}{b} \int \tan[ex + f] dx + \frac{1}{b} \int \frac{Abc + (Abd + B(bc - ad)) \tan[ex + f]}{a + b \tan[ex + f]} dx$$

Program code:

```
Int[(c_.+d_.*tan[e_.+f_.*x_])*(A_.+B_.*tan[e_.+f_.*x_])/(a_.+b_.*tan[e_.+f_.*x_]),x_Symbol] :=
  B*d/b*Int[Tan[e+f*x],x] + 1/b*Int[Simp[A*b*c+(A*b*d+B*(b*c-a*d))*Tan[e+f*x],x]/(a+b*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0]
```

$$2. \int (a + b \tan[ex + f])^m (c + d \tan[ex + f]) (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0 \wedge m < -1$$

$$1: \int (a + b \tan[ex + f])^m (c + d \tan[ex + f]) (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0 \wedge m < -1 \wedge a^2 + b^2 = 0$$

Derivation: Symmetric tangent recurrence 2a with $n \rightarrow 1$ and ???

Rule: If $bc - ad \neq 0 \wedge m < -1 \wedge a^2 + b^2 = 0$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f]) (A + B \tan[ex + f]) dx \rightarrow$$

$$-\frac{(Ab - aB)(a + b \tan[ex+f])^m (c + d \tan[ex+f])}{2afm} +$$

$$\frac{1}{2a^2m} \int (a + b \tan[ex+f])^{m+1} (A(bd + acm) - B(ad + bcm) - d(bB(m-1) - aA(m+1)) \tan[ex+f]) dx \rightarrow$$

$$-\frac{(Ab - aB)(ac + bd)(a + b \tan[ex+f])^m}{2a^2fm} + \frac{1}{2ab} \int (a + b \tan[ex+f])^{m+1} (Abc + aBc + aAd + bBd + 2aBd \tan[ex+f]) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
-(A*b-a*B)*(a*c+b*d)*(a+b*Tan[e+f*x])^m/(2*a^2*f*m) +
1/(2*a*b)*Int[(a+b*Tan[e+f*x])^(m+1)*Simp[A*b*c+a*B*c+a*A*d+b*B*d+2*a*B*d*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && LtQ[m,-1] && EqQ[a^2+b^2,0]
```

2: $\int (a + b \tan[ex+f])^m (c + d \tan[ex+f]) (A + B \tan[ex+f]) dx$ when $bc - ad \neq 0 \wedge m < -1 \wedge a^2 + b^2 \neq 0$

Derivation: Tangent recurrence 1b with $A \rightarrow Ac$, $B \rightarrow Bc + Ad$, $C \rightarrow Bd$, $n \rightarrow 0$

Rule: If $bc - ad \neq 0 \wedge m < -1 \wedge a^2 + b^2 \neq 0$, then

$$\int (a + b \tan[ex+f])^m (c + d \tan[ex+f]) (A + B \tan[ex+f]) dx \rightarrow$$

$$\frac{(bc - ad)(Ab - aB)(a + b \tan[ex+f])^{m+1}}{bf(m+1)(a^2 + b^2)} + \frac{1}{a^2 + b^2} \int (a + b \tan[ex+f])^{m+1} (aAc + bBc + Abd - aBd - (Abc - aBc - aAd - bBd) \tan[ex+f]) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
(b*c-a*d)*(A*b-a*B)*(a+b*Tan[e+f*x])^(m+1)/(b*f*(m+1)*(a^2+b^2)) +
1/(a^2+b^2)*Int[(a+b*Tan[e+f*x])^(m+1)*Simp[a*A*c+b*B*c+A*b*d-a*B*d-(A*b*c-a*B*c-a*A*d-b*B*d)*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && LtQ[m,-1] && NeQ[a^2+b^2,0]
```

2: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f]) (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge m \neq -1$

Derivation: Tangent recurrence 2b with $A \rightarrow Ac$, $B \rightarrow Bc + Ad$, $C \rightarrow Bd$, $n \rightarrow 0$

Rule: If $bc - ad \neq 0 \wedge m \neq -1$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f]) (A + B \tan[ex + f]) dx \rightarrow \frac{Bd (a + b \tan[ex + f])^{m+1}}{bf(m+1)} + \int (a + b \tan[ex + f])^m (Ac - Bd + (Bc + Ad) \tan[ex + f]) dx$$

Program code:

```
Int[(a_.+b_.*tan[e_.+f_.*x_])^m.*(c_.+d_.*tan[e_.+f_.*x_])*(A_.+B_.*tan[e_.+f_.*x_]),x_Symbol] :=
  B*d*(a+b*Tan[e+f*x])^(m+1)/(b*f*(m+1)) +
  Int[(a+b*Tan[e+f*x])^m*Simp[A*c-B*d+(B*c+A*d)*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B,m},x] && NeQ[b*c-a*d,0] && Not[LeQ[m,-1]]
```

3. $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$

1. $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1$

1: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m > 1 \wedge n < -1$

Derivation: Symmetric tangent recurrence 1a

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m > 1 \wedge n < -1$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$-\frac{a^2 (Bc - Ad) (a + b \tan[ex + f])^{m-1} (c + d \tan[ex + f])^{n+1}}{df (bc + ad) (n+1)} - \frac{a}{d (bc + ad) (n+1)}$$

$$\int (a + b \tan[ex + f])^{m-1} (c + d \tan[ex + f])^{n+1} (A b d (m - n - 2) - B (b c (m - 1) + a d (n + 1)) + (a A d (m + n) - B (a c (m - 1) + b d (n + 1))) \tan[ex + f]) dx$$

Program code:

```
Int [(a + b * tan[e + f * x])^m * (c + d * tan[e + f * x])^n * (A + B * tan[e + f * x]), x_Symbol] :=
-a^2 * (B*c - A*d) * (a + b * Tan[e + f * x])^(m-1) * (c + d * Tan[e + f * x])^(n+1) / (d * f * (b * c + a * d) * (n + 1)) -
a / (d * (b * c + a * d) * (n + 1)) * Int [(a + b * Tan[e + f * x])^(m-1) * (c + d * Tan[e + f * x])^(n+1) *
Simp [A * b * d * (m - n - 2) - B * (b * c * (m - 1) + a * d * (n + 1)) + (a * A * d * (m + n) - B * (a * c * (m - 1) + b * d * (n + 1))) * Tan[e + f * x], x], x] /;
FreeQ[{a, b, c, d, e, f, A, B}, x] && NeQ[b * c - a * d, 0] && EqQ[a^2 + b^2, 0] && GtQ[m, 1] && LtQ[n, -1]
```

2: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m > 1 \wedge n \neq -1$

Derivation: Symmetric tangent recurrence 1b

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m > 1 \wedge n \neq -1$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$\frac{1}{d(m+n)} \int (a+b \tan[ex+f])^{m-1} (c+d \tan[ex+f])^n (aAd(m+n) + B(ac(m-1) - bd(n+1)) - (B(bc-ad)(m-1) - d(Ab+aB)(m+n)) \tan[ex+f]) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol1] :=
  b*B*(a+b*Tan[e+f*x])^(m-1)*(c+d*Tan[e+f*x])^(n+1)/(d*f*(m+n)) +
  1/(d*(m+n))*Int[(a+b*Tan[e+f*x])^(m-1)*(c+d*Tan[e+f*x])^n*
  Simp[a*A*d*(m+n)+B*(a*c*(m-1)-b*d*(n+1))-(B*(b*c-a*d)*(m-1)-d*(A*b+a*B)*(m+n))*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B,n},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && GtQ[m,1] && Not[LtQ[n,-1]]
```

2. $\int (a+b \tan[ex+f])^m (c+d \tan[ex+f])^n (A+B \tan[ex+f]) dx$ when $bc-ad \neq 0 \wedge a^2+b^2 = 0 \wedge c^2+d^2 \neq 0 \wedge m < 0$

1: $\int (a+b \tan[ex+f])^m (c+d \tan[ex+f])^n (A+B \tan[ex+f]) dx$ when $bc-ad \neq 0 \wedge a^2+b^2 = 0 \wedge m < 0 \wedge n > 0$

Derivation: Symmetric tangent recurrence 2a

Rule: If $bc-ad \neq 0 \wedge a^2+b^2 = 0 \wedge m < 0 \wedge n > 0$, then

$$\int (a+b \tan[ex+f])^m (c+d \tan[ex+f])^n (A+B \tan[ex+f]) dx \rightarrow$$

$$-\frac{(A b - a B) (a + b \tan[ex+f])^m (c + d \tan[ex+f])^n}{2 a f m} +$$

$$\frac{1}{2 a^2 m} \int (a + b \tan[ex+f])^{m+1} (c + d \tan[ex+f])^{n-1} (A (a c m + b d n) - B (b c m + a d n) - d (b B (m - n) - a A (m + n)) \tan[ex+f]) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol1] :=
  -(A*b-a*B)*(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n/(2*a*f*m) +
  1/(2*a^2*m)*Int[(a+b*Tan[e+f*x])^(m+1)*(c+d*Tan[e+f*x])^(n-1)*
  Simp[A*(a*c*m+b*d*n)-B*(b*c*m+a*d*n)-d*(b*B*(m-n)-a*A*(m+n))*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && LtQ[m,0] && GtQ[n,0]
```

2: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 = 0 \wedge m < 0 \wedge n \neq 0$

Derivation: Symmetric tangent recurrence 2b

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 = 0 \wedge m < 0 \wedge n \neq 0$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$\frac{(aA + bB) (a + b \tan[ex + f])^m (c + d \tan[ex + f])^{n+1}}{2fm(bc - ad)} +$$

$$\frac{1}{2am(bc - ad)} \int (a + b \tan[ex + f])^{m+1} (c + d \tan[ex + f])^n (A(bc m - ad(2m + n + 1)) + B(ac m - bd(n + 1)) + d(Ab - aB)(m + n + 1) \tan[ex + f]) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
(a*A+b*B)*(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^(n+1)/(2*f*m*(b*c-a*d)) +
1/(2*a*m*(b*c-a*d))*Int[(a+b*Tan[e+f*x])^(m+1)*(c+d*Tan[e+f*x])^n*
Simp[A*(b*c*m-a*d*(2*m+n+1))+B*(a*c*m-b*d*(n+1))+d*(A*b-a*B)*(m+n+1)*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B,n},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && LtQ[m,0] && Not[GtQ[n,0]]
```

3: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge n > 0$

Derivation: Symmetric tangent recurrence 3a

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge n > 0$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$\frac{B (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n}{f (m + n)} +$$

$$\frac{1}{a (m + n)} \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^{n-1} (a A c (m + n) - B (b c m + a d n) + (a A d (m + n) - B (b d m - a c n)) \tan[ex + f]) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
  B*(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n/(f*(m+n)) +
  1/(a*(m+n))*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^(n-1)*
    Simp[a*A*c*(m+n)-B*(b*c*m+a*d*n)+(a*A*d*(m+n)-B*(b*d*m-a*c*n))*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B,m},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && GtQ[n,0]
```


4: $\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx$ when $b c - a d \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge n < -1$

Derivation: Symmetric tangent recurrence 3b

Rule: If $b c - a d \neq 0 \wedge a^2 + b^2 \neq 0 \wedge n < -1$, then

$$\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx \rightarrow$$

$$\frac{(A d - B c) (a + b \tan[e + f x])^m (c + d \tan[e + f x])^{n+1}}{f (n + 1) (c^2 + d^2)} -$$

$$\frac{1}{a (n + 1) (c^2 + d^2)} \int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^{n+1} (A (b d m - a c (n + 1)) - B (b c m + a d (n + 1)) - a (B c - A d) (m + n + 1) \tan[e + f x]) dx$$

Program code:

```
Int [(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
(A*d-B*c)*(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^(n+1)/(f*(n+1)*(c^2+d^2)) -
1/(a*(n+1)*(c^2+d^2))*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^(n+1)*
Simp[A*(b*d*m-a*c*(n+1))-B*(b*c*m+a*d*(n+1))-a*(B*c-A*d)*(m+n+1)*Tan[e+f*x],x],x] /;
FreeQ[{a,b,c,d,e,f,A,B,m},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && LtQ[n,-1]
```

5: $\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx$ when $b c - a d \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge A b + a B \neq 0$

Derivation: Integration by substitution

Basis: If $a^2 + b^2 \neq 0 \wedge A b + a B \neq 0$, then

$$(a + b \tan[e + f x])^m (A + B \tan[e + f x]) = \frac{bB}{f} \text{Subst} \left[(a + b x)^{m-1}, x, \tan[e + f x] \right] \partial_x \tan[e + f x]$$

Rule: If $b c - a d \neq 0 \wedge a^2 + b^2 \neq 0 \wedge A b + a B \neq 0$, then

$$\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx \rightarrow \frac{bB}{f} \text{Subst} \left[\int (a + b x)^{m-1} (c + d x)^n dx, x, \tan[e + f x] \right]$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
  b*B/f*Subst[Int[(a+b*x)^(m-1)*(c+d*x)^n,x],x,Tan[e+f*x]] /;
FreeQ[{a,b,c,d,e,f,A,B,m,n},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && EqQ[A*b+a*B,0]
```

$$6. \int (a + b \tan[efx])^m (c + d \tan[efx])^n (A + B \tan[efx]) dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge Ab + aB \neq 0$$

$$1: \int \frac{(a + b \tan[efx])^m (A + B \tan[efx])}{c + d \tan[efx]} dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge Ab + aB \neq 0$$

Derivation: Algebraic expansion

$$\text{Basis: } \frac{A+Bz}{c+dz} = \frac{Ab+aB}{bc+ad} - \frac{(Bc-Ad)(a-bz)}{(bc+ad)(c+dz)}$$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge Ab + aB \neq 0$, then

$$\int \frac{(a + b \tan[efx])^m (A + B \tan[efx])}{c + d \tan[efx]} dx \rightarrow \frac{Ab + aB}{bc + ad} \int (a + b \tan[efx])^m dx - \frac{Bc - Ad}{bc + ad} \int \frac{(a + b \tan[efx])^m (a - b \tan[efx])}{c + d \tan[efx]} dx$$

Program code:

```
Int[(a+b_*tan[e+_+f_*x_])^m_*(A+_+B_*tan[e+_+f_*x_])/(c+_+d_*tan[e+_+f_*x_]),x_Symbol] :=
(A*b+a*B)/(b*c+a*d)*Int[(a+b*Tan[e+f*x])^m,x] -
(B*c-A*d)/(b*c+a*d)*Int[(a+b*Tan[e+f*x])^m*(a-b*Tan[e+f*x])/(c+d*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B,m},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && NeQ[A*b+a*B,0]
```

x: $\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx$ when $b c - a d \neq 0 \wedge a^2 + b^2 \neq 0$

Derivation: Algebraic expansion

Baisi: $A + B z \equiv \frac{A b - a B}{b} + \frac{B (a + b z)}{b}$

Rule: If $b c - a d \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$, then

$$\int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n (A + B \tan[e + f x]) dx \rightarrow \frac{A b - a B}{b} \int (a + b \tan[e + f x])^m (c + d \tan[e + f x])^n dx + \frac{B}{b} \int (a + b \tan[e + f x])^{m+1} (c + d \tan[e + f x])^n dx$$

Program code:

```
(* Int[(a+b.*tan[e+.f.*x_])^m.*(c+.d.*tan[e+.f.*x_])^n.*(A+.B.*tan[e+.f.*x_]),x_Symbol] :=
(A*b-a*B)/b*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n,x] +
B/b*Int[(a+b*Tan[e+f*x])^(m+1)*(c+d*Tan[e+f*x])^n,x] /;
FreeQ[{a,b,c,d,e,f,A,B,m},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && NeQ[c^2+d^2,0] *)
```

$$2: \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge Ab + aB \neq 0$$

Derivation: Algebraic expansion

$$\text{Basis: } A + Bz = \frac{Ab + aB}{b} - \frac{B(a - bz)}{b}$$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge Ab + aB \neq 0$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow \frac{Ab + aB}{b} \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n dx - \frac{B}{b} \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (a - b \tan[ex + f]) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
  (A*b+a*B)/b*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n,x] -
  B/b*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n*(a-b*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B,m,n},x] && NeQ[b*c-a*d,0] && EqQ[a^2+b^2,0] && NeQ[A*b+a*B,0]
```

4. $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$

1. $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m \notin \mathbb{Z} \wedge n \notin \mathbb{Z} \wedge \neg (2m | 2n) \in \mathbb{Z}$

1: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m \notin \mathbb{Z} \wedge n \notin \mathbb{Z} \wedge \neg (2m | 2n) \in \mathbb{Z} \wedge A^2 + B^2 = 0$

Derivation: Integration by substitution

Basis: If $A^2 + B^2 = 0$, then $A + B \tan[ex + f] = \frac{A^2}{f} \text{Subst}\left[\frac{1}{A - Bx}, x, \tan[ex + f]\right] \partial_x \tan[ex + f]$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m \notin \mathbb{Z} \wedge n \notin \mathbb{Z} \wedge \neg (2m | 2n) \in \mathbb{Z} \wedge A^2 + B^2 = 0$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow \frac{A^2}{f} \text{Subst}\left[\int \frac{(a + bx)^m (c + dx)^n}{A - Bx} dx, x, \tan[ex + f]\right]$$

Program code:

```
Int[(a_.+b_.*tan[e_.+f_.*x_])^m_*(c_.+d_.*tan[e_.+f_.*x_])^n_*(A_.+B_.*tan[e_.+f_.*x_]),x_Symbol] :=
  A^2/f*Subst[Int[(a+b*x)^m*(c+d*x)^n/(A-B*x),x],x,Tan[e+f*x]] /;
FreeQ[{a,b,c,d,e,f,A,B,m,n},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && Not[IntegerQ[m]] && Not[IntegerQ[n]] &&
Not[IntegersQ[2*m,2*n]] && EqQ[A^2+B^2,0]
```

2: $\int (a + b \tan[ex + fx])^m (c + d \tan[ex + fx])^n (A + B \tan[ex + fx]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m \notin \mathbb{Z} \wedge n \notin \mathbb{Z} \wedge \neg (2m | 2n) \in \mathbb{Z} \wedge A^2 + B^2 \neq 0$

Derivation: Algebraic expansion

Basis: $A + Bz = \frac{A+iB}{2} (1 - iz) + \frac{A-iB}{2} (1 + iz)$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge m \notin \mathbb{Z} \wedge n \notin \mathbb{Z} \wedge \neg (2m | 2n) \in \mathbb{Z} \wedge A^2 + B^2 \neq 0$, then

$$\int (a + b \tan[ex + fx])^m (c + d \tan[ex + fx])^n (A + B \tan[ex + fx]) dx \rightarrow \frac{A + iB}{2} \int (a + b \tan[ex + fx])^m (c + d \tan[ex + fx])^n (1 - i \tan[ex + fx]) dx + \frac{A - iB}{2} \int (a + b \tan[ex + fx])^m (c + d \tan[ex + fx])^n (1 + i \tan[ex + fx]) dx$$

Program code:

```
Int[(a_.*b_.*tan[e_.*f_.*x_])^m_.*(c_.*d_.*tan[e_.*f_.*x_])^n_.*(A_.*B_.*tan[e_.*f_.*x_]),x_Symbol] :=
(A+I*B)/2*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n*(1-I*Tan[e+f*x]),x] +
(A-I*B)/2*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n*(1+I*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B,m,n},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && Not[IntegerQ[m]] && Not[IntegerQ[n]] &&
Not[IntegersQ[2*m,2*n]] && NeQ[A^2+B^2,0]
```

2. $\int (a + b \tan[ex + fx])^m (c + d \tan[ex + fx])^n (A + B \tan[ex + fx]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1$

1. $\int (a + b \tan[ex + fx])^m (c + d \tan[ex + fx])^n (A + B \tan[ex + fx]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1 \wedge n < -1$

1: $\int (a + b \tan[ex + fx])^2 (c + d \tan[ex + fx])^n (A + B \tan[ex + fx]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge n < -1$

Derivation: Tangent recurrence 1a with $A \rightarrow aA$, $B \rightarrow Ab + aB$, $C \rightarrow bB$, $m \rightarrow m - 1$

Note: The term produced by this optional rule is slightly simpler than the one produced by the following rule.

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge n < -1$, then

$$\int (a + b \tan[ex + f])^2 (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$-\frac{(Bc - Ad)(bc - ad)^2 (c + d \tan[ex + f])^{n+1}}{fd^2(n+1)(c^2 + d^2)} + \frac{1}{d(c^2 + d^2)} \int (c + d \tan[ex + f])^{n+1} dx$$

$$(B(bc - ad)^2 + Ad(a^2c - b^2c + 2abd) + d(B(a^2c - b^2c + 2abd) + A(2abc - a^2d + b^2d)) \tan[ex + f] + b^2B(c^2 + d^2) \tan[ex + f]^2) dx$$

Program code:

```
Int[(a_.+b_.*tan[e_.+f_.*x_])^2*(c_.+d_.*tan[e_.+f_.*x_])^n*(A_.+B_.*tan[e_.+f_.*x_]),x_Symbol1] :=
- (B*c-A*d)*(b*c-a*d)^2*(c+d*Tan[e+f*x])^(n+1)/(f*d^2*(n+1)*(c^2+d^2)) +
1/(d*(c^2+d^2))*Int[(c+d*Tan[e+f*x])^(n+1)*
Simp[B*(b*c-a*d)^2+A*d*(a^2*c-b^2*c+2*a*b*d)+d*(B*(a^2*c-b^2*c+2*a*b*d)+A*(2*a*b*c-a^2*d+b^2*d))*Tan[e+f*x]+b^2*B*(c^2+d^2)*Tan[e+f*x]^2
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && LtQ[n,-1]
```


2: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1 \wedge n < -1$

Derivation: Tangent recurrence 1a with $A \rightarrow aA, B \rightarrow Ab + aB, C \rightarrow bB, m \rightarrow m - 1$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1 \wedge n < -1$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$\frac{(bc - ad)(Bc - Ad)(a + b \tan[ex + f])^{m-1} (c + d \tan[ex + f])^{n+1}}{df(n+1)(c^2 + d^2)} - \frac{1}{d(n+1)(c^2 + d^2)} \int (a + b \tan[ex + f])^{m-2} (c + d \tan[ex + f])^{n+1} \cdot$$

$$d((aA - bB)(bc - ad) + (Ab + aB)(ac + bd))(n+1) \tan[ex + f] - b(d(Abc + aBc - aAd)(m+n) - bB(c^2(m-1) - d^2(n+1))) \tan[ex + f]^2 dx$$

Program code:

```
Int[(a_.*b_.*tan[e_.*f_.*x_])^m_*(c_.*d_.*tan[e_.*f_.*x_])^n_*(A_.*B_.*tan[e_.*f_.*x_]),x_Symbol] :=
(b*c-a*d)*(B*c-A*d)*(a+b*Tan[e+f*x])^(m-1)*(c+d*Tan[e+f*x])^(n+1)/(d*f*(n+1)*(c^2+d^2)) -
1/(d*(n+1)*(c^2+d^2))*Int[(a+b*Tan[e+f*x])^(m-2)*(c+d*Tan[e+f*x])^(n+1)*
Simp[a*A*d*(b*d*(m-1)-a*c*(n+1))+(b*B*c-(A*b+a*B)*d)*(b*c*(m-1)+a*d*(n+1))-
d*((a*A-b*B)*(b*c-a*d)+(A*b+a*B)*(a*c+b*d))*(n+1)*Tan[e+f*x]-
b*(d*(A*b*c+a*B*c-a*A*d)*(m+n)-b*B*(c^2*(m-1)-d^2*(n+1)))*Tan[e+f*x]^2,x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && GtQ[m,1] && LtQ[n,-1] &&
(IntegerQ[m] || IntegerQ[2*m,2*n])
```

2. $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1 \wedge n \neq -1$

1: $\int \frac{(a + b \tan[ex + f])^2 (A + B \tan[ex + f])}{c + d \tan[ex + f]} dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$

Derivation: Tangent recurrence 2a with $A \rightarrow aA, B \rightarrow Ab + aB, C \rightarrow bB, m \rightarrow m - 1$

Note: The term produced by this optional rule is slightly simpler than the one produced by the following rule.

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$, then

$$\int \frac{(a + b \tan[ex + f])^2 (A + B \tan[ex + f])}{c + d \tan[ex + f]} dx \rightarrow \frac{b^2 B \tan[ex + f]}{df} + \frac{1}{d} \int \frac{1}{c + d \tan[ex + f]} (a^2 Ad - b^2 Bc + (2aAb + B(a^2 - b^2)) d \tan[ex + f] + (Ab^2 d - bB(bc - 2ad)) \tan[ex + f]^2) dx$$

Program code:

```
Int[(a_.+b_.*tan[e_.+f_.*x_])^2*(A_.+B_.*tan[e_.+f_.*x_])/(c_.+d_.*tan[e_.+f_.*x_]),x_Symbol] :=
  b^2*B*Tan[e+f*x]/(d*f) +
  1/d*Int[(a^2*A*d-b^2*B*c+(2*a*A*b+B*(a^2-b^2))*d*Tan[e+f*x]+(A*b^2*d-b*B*(b*c-2*a*d))*Tan[e+f*x]^2]/(c+d*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0]
```

2: $\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1 \wedge n \neq -1$

Derivation: Tangent recurrence 2a with $A \rightarrow aA, B \rightarrow Ab + aB, C \rightarrow bB, m \rightarrow m - 1$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m > 1 \wedge n \neq -1$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$\frac{bB (a+b \tan[ex+f])^{m-1} (c+d \tan[ex+f])^{n+1}}{df(m+n)} + \frac{1}{d(m+n)} \int (a+b \tan[ex+f])^{m-2} (c+d \tan[ex+f])^n \cdot$$

$$(a^2 A d(m+n) - bB(bc(m-1) + ad(n+1)) + d(m+n)(2aAb + B(a^2 - b^2)) \tan[ex+f] - (bB(bc - ad)(m-1) - b(Ab + aB)d(m+n)) \tan[ex+f]^2) dx$$

Program code:

```
Int[(a_.+b_.*tan[e_.+f_.*x_])^m_*(c_.+d_.*tan[e_.+f_.*x_])^n_*(A_.+B_.*tan[e_.+f_.*x_]),x_Symbol] :=
  b*B*(a+b*Tan[e+f*x])^(m-1)*(c+d*Tan[e+f*x])^(n+1)/(d*f*(m+n)) +
  1/(d*(m+n))*Int[(a+b*Tan[e+f*x])^(m-2)*(c+d*Tan[e+f*x])^n*
  Simp[a^2*A*d*(m+n)-b*B*(b*c*(m-1)+a*d*(n+1))+
  d*(m+n)*(2*a*A*b+B*(a^2-b^2))*Tan[e+f*x]-
  (b*B*(b*c-a*d)*(m-1)-b*(A*b+a*B)*d*(m+n))*Tan[e+f*x]^2,x],x] /;
FreeQ[{a,b,c,d,e,f,A,B,n},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && GtQ[m,1] &&
(IntegerQ[m] || IntegersQ[2*m,2*n]) && Not[IGtQ[n,1] && (Not[IntegerQ[m]] || EqQ[c,0] && NeQ[a,0])]
```

3. $\int (a + b \tan[efx])^m (c + d \tan[efx])^n (A + B \tan[efx]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m < -1$

1: $\int (a + b \tan[efx])^m (c + d \tan[efx])^n (A + B \tan[efx]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m < -1 \wedge 0 < n < 1$

Derivation: Tangent recurrence 1b with $C \rightarrow 0$

Derivation: Tangent recurrence 3a with $A \rightarrow Ac, B \rightarrow Bc + Ad, C \rightarrow Bd, n \rightarrow n - 1$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m < -1 \wedge 0 < n < 1$, then

$$\int (a + b \tan[efx])^m (c + d \tan[efx])^n (A + B \tan[efx]) dx \rightarrow \frac{(Ab - aB) (a + b \tan[efx])^{m+1} (c + d \tan[efx])^n}{f (m + 1) (a^2 + b^2)} + \frac{1}{b (m + 1) (a^2 + b^2)} \int (a + b \tan[efx])^{m+1} (c + d \tan[efx])^{n-1} dx$$

$$(bB (bc (m + 1) + adn) + Ab (ac (m + 1) - bdn) - b (A (bc - ad) - B (ac + bd)) (m + 1) \tan[efx] - bd (Ab - aB) (m + n + 1) \tan[efx]^2) dx$$

Program code:

```
Int [(a_.+b_.*tan[e_.+f_.*x_])^m_*(c_.+d_.*tan[e_.+f_.*x_])^n_*(A_.+B_.*tan[e_.+f_.*x_]),x_Symbol] :=
(A*b-a*B)*(a+b*Tan[e+f*x])^(m+1)*(c+d*Tan[e+f*x])^n/(f*(m+1)*(a^2+b^2)) +
1/(b*(m+1)*(a^2+b^2))*Int [(a+b*Tan[e+f*x])^(m+1)*(c+d*Tan[e+f*x])^(n-1)*
Simp [b*B*(b*c*(m+1)+a*d*n)+A*b*(a*c*(m+1)-b*d*n)-b*(A*(b*c-a*d)-B*(a*c+b*d))*(m+1)*Tan[e+f*x]-b*d*(A*b-a*B)*(m+n+1)*Tan[e+f*x]^2,x],x) /
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && LtQ[m,-1] && LtQ[0,n,1] && (IntegerQ[m] || IntegersQ[2+m,2*n])
```

2: $\int (a + b \tan[efx])^m (c + d \tan[efx])^n (A + B \tan[efx]) dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m < -1 \wedge n \neq 0$

Derivation: Tangent recurrence 3a with $C \rightarrow 0$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge m < -1$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$\frac{b (A b - a B) (a + b \tan[ex + f])^{m+1} (c + d \tan[ex + f])^{n+1}}{f (m + 1) (b c - a d) (a^2 + b^2)} +$$

$$\frac{1}{(m + 1) (b c - a d) (a^2 + b^2)} \int (a + b \tan[ex + f])^{m+1} (c + d \tan[ex + f])^n \cdot$$

$$(b B (b c (m + 1) + a d (n + 1)) + A (a (b c - a d) (m + 1) - b^2 d (m + n + 2)) - (A b - a B) (b c - a d) (m + 1) \tan[ex + f] - b d (A b - a B) (m + n + 2) \tan[ex + f]^2) dx$$

Program code:

```
Int[(a_.+b_.*tan[e_.+f_.*x_])^m_*(c_.+d_.*tan[e_.+f_.*x_])^n_*(A_.+B_.*tan[e_.+f_.*x_]),x_Symbol] :=
b*(A*b-a*B)*(a+b*Tan[e+f*x])^(m+1)*(c+d*Tan[e+f*x])^(n+1)/(f*(m+1)*(b*c-a*d)*(a^2+b^2)) +
1/((m+1)*(b*c-a*d)*(a^2+b^2))*Int[(a+b*Tan[e+f*x])^(m+1)*(c+d*Tan[e+f*x])^n*
Simp[b*B*(b*c*(m+1)+a*d*(n+1))+A*(a*(b*c-a*d)*(m+1)-b^2*d*(m+n+2)) -
(A*b-a*B)*(b*c-a*d)*(m+1)*Tan[e+f*x] -
b*d*(A*b-a*B)*(m+n+2)*Tan[e+f*x]^2,x],x] /;
FreeQ[{a,b,c,d,e,f,A,B,n},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && LtQ[m,-1] && (IntegerQ[m] || IntegersQ[2*m,2*n]) &&
Not[ILtQ[n,-1] && (Not[IntegerQ[m]] || EqQ[c,0] && NeQ[a,0])]
```

$$4: \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge 0 < m < 1 \wedge 0 < n < 1$$

Derivation: Tangent recurrence 2a with $A \rightarrow Ac$, $B \rightarrow Bc + Ad$, $C \rightarrow Bd$, $n \rightarrow n - 1$

Derivation: Tangent recurrence 2b with $A \rightarrow aA$, $B \rightarrow Ab + aB$, $C \rightarrow bB$, $m \rightarrow m - 1$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge 0 < m < 1 \wedge 0 < n < 1$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow$$

$$\frac{B (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n}{f (m + n)} +$$

$$\frac{1}{m + n} \int (a + b \tan[ex + f])^{m-1} (c + d \tan[ex + f])^{n-1} \cdot$$

$$(aAc(m+n) - B(bcm + adn) + (Abc + aBc + aAd - bBd)(m+n) \tan[ex + f] + (Abd(m+n) + B(adm + bcn)) \tan[ex + f]^2) dx$$

Program code:

```
Int[(a_+b_.*tan[e_+f_.*x_])^m_*(c_+d_.*tan[e_+f_.*x_])^n_*(A_+B_.*tan[e_+f_.*x_]),x_Symbol] :=
  B*(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n/(f*(m+n)) +
  1/(m+n)*Int[(a+b*Tan[e+f*x])^(m-1)*(c+d*Tan[e+f*x])^(n-1)*
    Simp[a*A*C*(m+n)-B*(b*C*m+a*d*n)+(A*b*C+a*B*C+a*A*d-b*B*d)*(m+n)*Tan[e+f*x]+(A*b*d*(m+n)+B*(a*d*m+b*c*n))*Tan[e+f*x]^2,x],x] /;
  FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && LtQ[0,m,1] && LtQ[0,n,1]
```

$$5. \int \frac{(c + d \tan[ex + f])^n (A + B \tan[ex + f])}{a + b \tan[ex + f]} dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$$

$$1: \int \frac{A + B \tan[ex + f]}{(a + b \tan[ex + f]) (c + d \tan[ex + f])} dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$$

Derivation: Algebraic expansion

$$\text{Basis: } \frac{A+Bz}{(a+bz)(c+dz)} = \frac{B(bc+ad)+A(ac-bd)}{(a^2+b^2)(c^2+d^2)} + \frac{b(Ab-aB)(b-az)}{(a^2+b^2)(bc-ad)(a+bz)} + \frac{d(Bc-A d)(d-cz)}{(bc-ad)(c^2+d^2)(c+dz)}$$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$, then

$$\int \frac{A + B \tan[ex + f]}{(a + b \tan[ex + f]) (c + d \tan[ex + f])} dx \rightarrow \frac{(B(bc + ad) + A(ac - bd))x}{(a^2 + b^2)(c^2 + d^2)} + \frac{b(Ab - aB)}{(bc - ad)(a^2 + b^2)} \int \frac{b - a \tan[ex + f]}{a + b \tan[ex + f]} dx + \frac{d(Bc - Ad)}{(bc - ad)(c^2 + d^2)} \int \frac{d - c \tan[ex + f]}{c + d \tan[ex + f]} dx$$

Program code:

```
Int[(A_.*B_.*tan[e_.*f_.*x_])/((a_.*b_.*tan[e_.*f_.*x_])*(c_.*d_.*tan[e_.*f_.*x_])),x_Symbol] :=
(B*(b*c+a*d)+A*(a*c-b*d))*x/((a^2+b^2)*(c^2+d^2)) +
b*(A*b-a*B)/((b*c-a*d)*(a^2+b^2))*Int[(b-a*Tan[e+f*x])/(a+b*Tan[e+f*x]),x] +
d*(B*c-A*d)/((b*c-a*d)*(c^2+d^2))*Int[(d-c*Tan[e+f*x])/(c+d*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0]
```

$$2: \int \frac{\sqrt{c+d \tan[ex+f]} (A+B \tan[ex+f])}{a+b \tan[ex+f]} dx \text{ when } bc-ad \neq 0 \wedge a^2+b^2 \neq 0 \wedge c^2+d^2 \neq 0$$

Derivation: Algebraic expansion

$$\text{Basis: } \frac{\sqrt{c+dz} (A+Bz)}{a+bz} == \frac{A(a+c+bd)+B(bc-ad)-(A(bc-ad)-B(a+c+bd))z}{(a^2+b^2)\sqrt{c+dz}} - \frac{(bc-ad)(Ba-Ab)(1+z^2)}{(a^2+b^2)(a+bz)\sqrt{c+dz}}$$

Rule: If $bc-ad \neq 0 \wedge a^2+b^2 \neq 0 \wedge c^2+d^2 \neq 0$, then

$$\int \frac{\sqrt{c+d \tan[ex+f]} (A+B \tan[ex+f])}{a+b \tan[ex+f]} dx \rightarrow \frac{1}{a^2+b^2} \int \frac{A(a+c+bd)+B(bc-ad)-(A(bc-ad)-B(a+c+bd)) \tan[ex+f]}{\sqrt{c+d \tan[ex+f]}} dx - \frac{(bc-ad)(Ba-Ab)}{a^2+b^2} \int \frac{1+\tan[ex+f]^2}{(a+b \tan[ex+f]) \sqrt{c+d \tan[ex+f]}} dx$$

Program code:

```
Int[Sqrt[c_.+d_.*tan[e_.+f_.*x_]]*(A_.+B_.*tan[e_.+f_.*x_])/(a_.+b_.*tan[e_.+f_.*x_]),x_Symbol] :=
1/(a^2+b^2)*Int[Simp[A*(a+c+b*d)+B*(b*c-a*d)-(A*(b*c-a*d)-B*(a+c+b*d))*Tan[e+f*x],x]/Sqrt[c+d*Tan[e+f*x]],x] -
(b*c-a*d)*(B*a-A*b)/(a^2+b^2)*Int[(1+Tan[e+f*x]^2)/((a+b*Tan[e+f*x])*Sqrt[c+d*Tan[e+f*x]]),x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0]
```

$$3: \int \frac{(c+d \tan[ex+f])^n (A+B \tan[ex+f])}{a+b \tan[ex+f]} dx \text{ when } bc-ad \neq 0 \wedge a^2+b^2 \neq 0 \wedge c^2+d^2 \neq 0$$

Derivation: Algebraic expansion

$$\text{Basis: } \frac{A+Bz}{a+bz} == \frac{aA+bB-(Aa-bB)z}{a^2+b^2} + \frac{b(Aa-bB)(1+z^2)}{(a^2+b^2)(a+bz)}$$

Rule: If $bc-ad \neq 0 \wedge a^2+b^2 \neq 0 \wedge c^2+d^2 \neq 0$, then

$$\int \frac{(c+d \tan[ex])^n (A+B \tan[ex])}{a+b \tan[ex]} dx \rightarrow$$

$$\frac{1}{a^2+b^2} \int (c+d \tan[ex])^n (aA+bB - (Ab-aB) \tan[ex]) dx + \frac{b(Ab-aB)}{a^2+b^2} \int \frac{(c+d \tan[ex])^n (1+\tan[ex]^2)}{a+b \tan[ex]} dx$$

Program code:

```
Int[(c_.+d_.*tan[e_.+f_.*x_])^n_*(A_.+B_.*tan[e_.+f_.*x_])/(a_.+b_.*tan[e_.+f_.*x_]),x_Symbol1] :=
  1/(a^2+b^2)*Int[(c+d*Tan[e+f*x])^n*Simp[a*A+b*B-(A*b-a*B)*Tan[e+f*x],x],x] +
  b*(A*b-a*B)/(a^2+b^2)*Int[(c+d*Tan[e+f*x])^n*(1+Tan[e+f*x]^2)/(a+b*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B,n},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0]
```

6: $\int \frac{\sqrt{a+b \tan[ex]} (A+B \tan[ex])}{\sqrt{c+d \tan[ex]}} dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$

Derivation: Algebraic expansion

$$\text{Basis: } \sqrt{a+bz} (A+Bz) == \frac{aA-bB+(Ab+aB)z}{\sqrt{a+bz}} + \frac{bB(1+z^2)}{\sqrt{a+bz}}$$

Note: This rule should be generalized for all integrands of the form $\sqrt{a+b \tan[ex]} (c+d \tan[ex])^n (A+B \tan[ex])$ when $Ab - aB \neq 0 \wedge a^2 + b^2 \neq 0$.

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$, then

$$\int \frac{\sqrt{a+b \tan[ex]} (A+B \tan[ex])}{\sqrt{c+d \tan[ex]}} dx \rightarrow \int \frac{aA-bB+(Ab+aB) \tan[ex]}{\sqrt{a+b \tan[ex]} \sqrt{c+d \tan[ex]}} dx + bB \int \frac{1+\tan[ex]^2}{\sqrt{a+b \tan[ex]} \sqrt{c+d \tan[ex]}} dx$$

Program code:

```
Int[Sqrt[a_.+b_.*tan[e_.+f_.*x_]]*(A_.+B_.*tan[e_.+f_.*x_])/Sqrt[c_.+d_.*tan[e_.+f_.*x_]],x_Symbol1] :=
  Int[Simp[a*A-b*B+(A*b+a*B)*Tan[e+f*x],x]/(Sqrt[a+b*Tan[e+f*x]]*Sqrt[c+d*Tan[e+f*x]]),x] +
  b*B*Int[(1+Tan[e+f*x]^2)/(Sqrt[a+b*Tan[e+f*x]]*Sqrt[c+d*Tan[e+f*x]]),x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0]
```

$$x. \int \frac{A + B \tan[e + f x]}{\sqrt{a + b \tan[e + f x]} \sqrt{c + d \tan[e + f x]}} dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$$

$$1: \int \frac{A + B \tan[e + f x]}{\sqrt{a + b \tan[e + f x]} \sqrt{c + d \tan[e + f x]}} dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge A^2 + B^2 = 0$$

Derivation: Integration by substitution

Basis: If $A^2 + B^2 = 0$, then $A + B \tan[e + f x] = \frac{A^2}{f} \text{Subst}\left[\frac{1}{A - Bx}, x, \tan[e + f x]\right] \partial_x \tan[e + f x]$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0 \wedge A^2 + B^2 = 0$, then

$$\int \frac{A + B \tan[e + f x]}{\sqrt{a + b \tan[e + f x]} \sqrt{c + d \tan[e + f x]}} dx \rightarrow \frac{A^2}{f} \text{Subst}\left[\int \frac{1}{(A - Bx) \sqrt{a + bx} \sqrt{c + dx}} dx, x, \tan[e + f x]\right]$$

Program code:

```
(* Int[(A_.+B_.*tan[e_.+f_.*x_])/(Sqrt[a_.+b_.*tan[e_.+f_.*x_])*Sqrt[c_.+d_.*tan[e_.+f_.*x_]]],x_Symbol] :=
  A^2/f*Subst[Int[1/((A-B*x)*Sqrt[a+b*x]*Sqrt[c+d*x]),x],x,Tan[e+f*x]] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && EqQ[A^2+B^2,0] *)
```

$$2: \int \frac{A+B \tan[ex+f]}{\sqrt{a+b \tan[ex+f]} \sqrt{c+d \tan[ex+f]}} dx \text{ when } bc-ad \neq 0 \wedge a^2+b^2 \neq 0 \wedge c^2+d^2 \neq 0 \wedge A^2+B^2 \neq 0$$

Derivation: Algebraic expansion

$$\text{Basis: } A+Bz = \frac{A+iB}{2} (1-iz) + \frac{A-iB}{2} (1+iz)$$

Rule: If $bc-ad \neq 0 \wedge a^2+b^2 \neq 0 \wedge c^2+d^2 \neq 0 \wedge A^2+B^2 \neq 0$, then

$$\int \frac{A+B \tan[ex+f]}{\sqrt{a+b \tan[ex+f]} \sqrt{c+d \tan[ex+f]}} dx \rightarrow \frac{A+iB}{2} \int \frac{1-iz \tan[ex+f]}{\sqrt{a+b \tan[ex+f]} \sqrt{c+d \tan[ex+f]}} dx + \frac{A-iB}{2} \int \frac{1+iz \tan[ex+f]}{\sqrt{a+b \tan[ex+f]} \sqrt{c+d \tan[ex+f]}} dx$$

Program code:

```
(* Int[(A.+B.*tan[e.+f.*x_])/(Sqrt[a.+b.*tan[e.+f.*x_])*Sqrt[c.+d.*tan[e.+f.*x_]]],x_Symbol] :=
(A+I*B)/2*Int[(1-I*Tan[e+f*x])/(Sqrt[a+b*Tan[e+f*x])*Sqrt[c+d*Tan[e+f*x]]],x] +
(A-I*B)/2*Int[(1+I*Tan[e+f*x])/(Sqrt[a+b*Tan[e+f*x])*Sqrt[c+d*Tan[e+f*x]]],x] /;
FreeQ[{a,b,c,d,e,f,A,B},x] && NeQ[b+c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[c^2+d^2,0] && NeQ[A^2+B^2,0] *)
```

$$7. \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge c^2 + d^2 \neq 0$$

$$1: \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \text{ when } bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge A^2 + B^2 = 0$$

Derivation: Integration by substitution

Basis: If $A^2 + B^2 = 0$, then $A + B \tan[ex + f] = \frac{A^2}{f} \text{Subst}\left[\frac{1}{A - Bx}, x, \tan[ex + f]\right] \partial_x \tan[ex + f]$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge A^2 + B^2 = 0$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow \frac{A^2}{f} \text{Subst}\left[\int \frac{(a + bx)^m (c + dx)^n}{A - Bx} dx, x, \tan[ex + f]\right]$$

Program code:

```
Int[(a.+b_.*tan[e.+f.*x_])^m*(c.+d_.*tan[e.+f.*x_])^n*(A.+B_.*tan[e.+f.*x_]),x_Symbol] :=
  A^2/f*Subst[Int[(a+b*x)^m*(c+d*x)^n/(A-B*x),x],x,Tan[e+f*x]] /;
FreeQ[{a,b,c,d,e,f,A,B,m,n},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && EqQ[A^2+B^2,0]
```

2: $\int (a + b \tan[ex + f])^m (A + B \tan[ex + f]) (c + d \tan[ex + f])^n dx$ when $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge A^2 + B^2 \neq 0$

Derivation: Algebraic expansion

Basis: $A + Bz = \frac{A+iB}{2} (1 - iz) + \frac{A-iB}{2} (1 + iz)$

Rule: If $bc - ad \neq 0 \wedge a^2 + b^2 \neq 0 \wedge A^2 + B^2 \neq 0$, then

$$\int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (A + B \tan[ex + f]) dx \rightarrow \frac{A + iB}{2} \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (1 - i \tan[ex + f]) dx + \frac{A - iB}{2} \int (a + b \tan[ex + f])^m (c + d \tan[ex + f])^n (1 + i \tan[ex + f]) dx$$

Program code:

```
Int[(a_.*b_.*tan[e_.*f_.*x_])^m_.*(c_.*d_.*tan[e_.*f_.*x_])^n_.*(A_.*B_.*tan[e_.*f_.*x_]),x_Symbol] :=
(A+I*B)/2*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n*(1-I*Tan[e+f*x]),x] +
(A-I*B)/2*Int[(a+b*Tan[e+f*x])^m*(c+d*Tan[e+f*x])^n*(1+I*Tan[e+f*x]),x] /;
FreeQ[{a,b,c,d,e,f,A,B,m,n},x] && NeQ[b*c-a*d,0] && NeQ[a^2+b^2,0] && NeQ[A^2+B^2,0]
```